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Three-number Tables

1. Choose the table corresponding to the value of the lowest "runner."

2. Look up the probability of a "good" roll (i.e., not crapping out) in the row corresponding to the middle "runner”,
and the column corresponding to the highest "runner."

Low Runner =2

4 5 6 7 8 9 10 11 12

3] 0.5216 0.5841] 0.6836] 0.7523] 0.7562] 0.7122] 0.6343| 0.5255[ 0.4383
4 0.6574| 0.7585| 0.8071] 0.8156] 0.7562| 0.7384| 0.6343[ 0.5517
5 0.7701] 0.8094] 0.8287| 0.7600] 0.7562| 0.7122| 0.6343
6 0.8642| 0.8835] 0.8333] 0.8110] 0.7562] 0.7384
7 0.8904 0.8356f 0.8333] 0.7785| 0.7809
8 0.8225| 0.8156] 0.7361] 0.7384
9 0.7099| 0.6366] 0.6343
10 0.5787( 0.5517
11 0.4383

Low Runner =3
5 6 7 8 9 10 11 12

4] 0.6690| 0.7423[ 0.7909 0.7963| 0.7785| 0.7562] 0.6566] 0.5787
5 0.7708] 0.7870] 0.8079] 0.7762| 0.7585| 0.7099| 0.6366
6 0.8650] 0.8534| 0.8264| 0.8225| 0.7585] 0.7361
7 0.8927| 0.8426| 0.8356| 0.7762] 0.7785
8 0.8356[ 0.8333] 0.7585| 0.7562
9 0.7785] 0.7099] 0.7122
10 0.6566( 0.6343
11 0.5255

Low Runner =4
6 7 8 9 10 11 12

0.7963 0.8480| 0.8457] 0.7986| 0.8225] 0.7785] 0.7099

0.8858] 0.9113] 0.8642] 0.8835| 0.8333] 0.8156

0.8627| 0.8835] 0.8225| 0.8110

5
6
I 0.9028| 0.8927] 0.8765| 0.8356| 0.8333
8
9

0.8225[ 0.7585( 0.7562

10 0.7562| 0.7384

11 0.6343

Low Runner =5
7 8 9 10 11 12

6] 0.8866[ 0.8951| 0.8665| 0.8627| 0.8356| 0.8225
7 0.9144| 0.8534] 0.8927| 0.8426| 0.8356
8 0.8665| 0.8642] 0.8264| 0.8333
9 0.7986 0.7762| 0.7600
10 0.7785[ 0.7562
11 0.7122

Low Runner =6

8 9 10 11 12

7 0.9198 0.9144] 0.9028] 0.8927| 0.8904
8 0.8951] 0.9113] 0.8534] 0.8835
9 0.8457| 0.8079] 0.8287
10 0.7963| 0.8156

11 0.7562




Low Runner =7

9 10 11 12
8 0.8866 0.8858 0.8650 0.8642
9 0.8480 0.7870 0.8094
10 0.7909 0.8071
11 0.7523
Low Runner =8
10 11 12
9 0.7963 0.7708 0.7701
10 0.7423 0.7585
11 0.6836
Low Runner =9
11 12
10 0.6690 0.6574
11 0.5841

Low Runner =10

12

11

0.5216

Two-number Table

This table shows the probabilities of rolling one or both of any pair of numbers.

3 4 5 6 7 8 9 10 11 12

2| 0.3202 0.4383] 0.5255| 0.6343] 0.7122] 0.6698] 0.5610{ 0.4738| 0.3557| 0.2593
3 0.4699] 0.5324| 0.6366] 0.7099] 0.6829| 0.6435[ 0.5610 0.4475| 0.3557
4 0.6103| 0.7207] 0.7693] 0.7469| 0.6829] 0.6698] 0.5610{ 0.4738
5 0.7323| 0.7762] 0.7693] 0.6914] 0.6829] 0.6435| 0.5610
6 0.8356[ 0.8241| 0.7693] 0.7469] 0.6829| 0.6698
7 0.8356] 0.7762] 0.7693] 0.7099] 0.7122
8 0.7323] 0.7207] 0.6366| 0.6343
9 0.6103 0.5324| 0.5255
10 0.4699( 0.4383
11 0.3202

Single Number Table

This table shows the probabilities of rolling any single number.
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